Variable 2¢-Ewk 2(-Stop 3¢-Ewk
Low-MET Higher-MET Low-MET Higher-MET Low-MET Higher-MET

Niep 2 2 2 2 3 3

pr(¢1) [GeV] for e(u) (5,30) (5(3.5),30) (5,30) (5(3.5),30) (5,30) (5(3.5),30)

pr(£a) [GeV] for e(y) (530)  (5(35),30)  (530)  (5(35),30)  (530)  (5(3.5),30)

pr(¢3) [GeV] for e(u) — — — — (5,30) (5(3.5),30)

1 OS pair v v v v v v

1 OSSF pair v v v — v v

AR(Lit) (1,1 =1,2,3,i # ) — >0.3 — > 0.3 — >0.3

Msros(£6) (MBin.(¢¢) in 3¢) [GeV] (4,50) (1,50) (4,50) (1,50) (4,50) (1,50)

M5 (£0) (AS=any sign) [GeV] — — — — < 60 —

Msros (£0) (MBD,(£0) in 30) [GeV] veto (3,3.2) and (9,10.5)

pr(£0) [GeV] >3 >3 —

Leading jet “Tight lepton veto” v v —

mr(€;, pRiss) [GeV) (i = 1,2) <70 — —

Hr [GeV] > 100

pmiss / Hy (2/3,1.4) (2/3,14) —

N (pr > 25GeV) =0

My [GeV] veto (0,160) veto (0,160) —



